
TV/MONITOR
TRIPLE XL EXTENSION

Instruction Manual
Bedienungsanleitung

Mode d‘emploi



2MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

2x

2x

4x

PARTS [dimensions in mm / different scales]
No extra or spare parts listed!

750

40

40
thread

900

40

40

900

40

40

700

40

40

450

40

40

188

40

40

2x

4x

2x



3MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

 40 

 4
0 

14x

 4
0 

 40 

 40 
 40

 

4x

2x

 8 

 10 

4 per joint

 80
 

 4
0 

4x 4x

28x28x

28x

 30 

 Ø
8 

M8

BAG 1 - universal connectors



4MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

BAG 3 - joint assembly

BAG 2 - VESA mount assembly

8x
M8

8x

 8,4 
 16 

8x

 
8 

 14 

4x
M8

4x

 
8 

 16 

4x

 
8 

 25 

4x black
4x silver

4x black
4x silver

BAG 4 - feet assembly

4x
M8

 8,4 
 24 

 8,4 
 15 

 5
 

M8

4x

4x 4x

BAG 5 - connector plate assembly

8x
M8

 16 

 
8 

8x



5MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

188 m
m

450 mm

ASSEMBLY

very loosely
pre-assembled

universal
connector

M8x30

Every step has to be done for both sides.
Shown here for the right side.

4x
pre-assembled

universal
connector

2x
slot nut

M8

For assembly of 
40x40mm profiles
slot nut on one side
has to be turned 180°.
Else they collide.



6MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

cap

cap

4x
slot nut

M8

your TV-stand



7MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

4x
universal
connector

4x
M8x30

choose height
position as

you like

4x
pre-assembled

universal
connector



8MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

700 mm

slot nut
M8

Now let‘s assemble these parts:

slot nut
M8



9MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

foot

flat nut M8

spacer 5mm

washer Ø24

foot

profile

po
si

tio
n 

at
 th

e 
en

d 
of

 th
e 

pr
of

ile

height 
adjustment 
for uneven 
floor

tighten nut
after height 
adjustment



10MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

200 mm

900 m
m

2x
pre-assembled

universal
connector



11MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

10
8 

m
m

90
0 

m
m

750 mm

4x
pre-assembled

universal
connector

Distance between the 

profiles suitable for 

MTSIM VESA mount is 

108 mm.



12MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

4x
slot nut

M8

For later installation of the VESA mount. 

Notice! Slot nuts must be on the later front side.

insert the
rotation blockers

into the joints



13MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

2x
M8x25



14MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

2x
slot nut

M8

2x
slot nut

M8

detail



15MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

2x
M8x16

flat head
black

connector

detail



16MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

caps

detail

cap



17MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

detail

2x
M8x16



18MTSIM MTS TV/MONITOR TRIPLE XL EXTENSION INSTRUCTION MANUAL

move to optim
al 

positio
n for yo

ur 

tv s
etup

4x
washer

Ø16

4x
M8x14



14-04-2024

Assembly to
MTS cockpit
has to be done
the same way.


